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lHowing instructions carefully before attempling

Please read each of
questions :

Qu&stl% T Specific Instructions

H-H' divided in TWO SECTIONS and printed both, in HINDI

Answers mugt be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the

authorized one.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Q1. (a)
{h}
Q2. (a)
(b)
Q3. (a)

EGT-G-GSF

TUEA
SECTION A

fefae fnati % wed & wfds vl &, @9 smafe gedi =1 =99 i ain
3% TEv =i FATE i | (150 =)

State the three basic values, universal in nature, in the context of civil

serviees and bring out their importance. (150 words)
Iogw el #ftn “agemafem” sk “smanafa” & *ﬁ%

#ifae | (150 =)

Distinguish between “Code of ethics” and “Code of @with suitable
examples. (150 words)

wifen @ wn s 2 2 i 'a@?;ﬁmmﬁmﬁ

st Frdfafdi w1 s g
What is meant by publie in%? t are the principles and

procedures to be followed b 1l servants in public interest 7
(150 words)

“ger w1 st Fae At & i & o § & ad g,
mﬁgu‘smﬁﬁ %1 "wea H1 EaftniE = 2 7 faEe
iﬁhm{lﬁﬂ

fﬂrmahun Act is not all about citizens' empowerment
alon 5 taa]]y redefines the concept of accountability.” Discuss.
(150 words)

Xﬂfﬁmﬁmﬂmﬁﬁ?mﬁmmmﬁﬁ-ﬁﬂﬁmﬁ%ﬂﬂ#
HA 1 I g oI A | (150 w52)
What is meant by conflict of interest ? Illustrate with examples, the
difference between the actual and potential conflicts of interest.

(150 words)
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(b)
Q4. (a)

(h)
Q5. (a)
EGT-G-GSF

¥ o =afrdl & @ =19 omg A 49 i F =@ §  geie,
Figamn =i St | afE = gwen o ol R, Ao R oo s wETE
" g T

TAEH TigyE § 9 HEA ° AW T THed § 7 TR Fitan | (150 )

“In looking for people to hire, you leck for three gqualities : integrity,
intelligence and energy. And if they do not have the first, the other two
will kill you.” — Warren Buffett

What do you understand by this statement in the present-day$cenario 7
Explain. {150 words)

“yrem I FA4 H, 97 79 F9 AHa B R Fae) At F g m wre
fifeerd & gm ffeg 7 T m & 7 A HEw g
waeg & e w9 % gl 4, W FLaW AL

=hifare | (150 wre) '
“In doing a good thing, everything j Qi}ed which is not prohibited
expressly or by clear implicati ine the statement with

suitable examples in the con of a‘public servant discharging his’her
duties. (150 words) %

Wﬁﬁﬂ#ﬁm#ﬁ?hgﬁﬁmﬂaa%.ﬁmmﬁm%
s iy oraet =1 e fag =@ € ) oS

YR ATUE 99 B 7 WO TN F uw o

With rega ality of actions, one view iz that means are of
paramo unportfince and the other view is that the ends justify the
megn gh view do you think is more appropriate 7 Justify your

An . M50 words)

i f wre wen us T w@dE w8 o 9ty w5 Pl w8

dre o 2, St Sen 8 fafl R s =l e ooEm e § 1 srwenfim
ArRfErEaa ¥ Foea & e wwn 5 s ahea it s gEm @
=1fEn 7 (150 %)
Suppose the Government of India is thinking of constructing a dam in a
mountain valley bound by forests and inhabited by ethnic communities.
What rational policy should it resort to in dealing with unforeseen
contingencies 7 (150 words)
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(b) =R garEd § s e = wmem e % v W e Fif
- (150 7=g)

Explain the process of resolving ethical dilemmas in Public
Administration, (150 words)

Q6. anw dey A Frafefem & & oo g =1 o famm & = afimm 2 0

What do each of the following gquotations mean to you in the present
context ?

(a)  “Tarefl ft W i e =9 @ wedten w9 i w8
T # fr 3o w aE @ W G, 9fes a8 & s 3ad s
2 | U w5d ww fwg a & ot oft A 9 @ 3= e
T Wit fifo & weiftm, sreond o gud 391 & e
difsh 39 1 & =19 WO % 96 o wE ware i -
w8 |7 — e e (150 v=) g)

“The true rule, in determining to em | reject any thing, is not
whether it has any evil in it: but wh it has more evil than good.

There are few things wholly v good. Almost every thing,
especially of governmental ICY ol inseparable compound of the
Al

two; so that our best ju he preponderance between them is
continually demanded.” —

Lincoln (150 words)

(by  “@ig FHR swafEspEm &% w3 # 7 — mEwew vt (150 =)
“Anger and in e are the enemies of correct understanding”
— Mahatma i words)

1 [ A 8 3R 3ue ofty freres adwles s=mm
" (150 9r2)

od takes the place of truth when it results in unblemished
common good.” — Tirukkural (150 words)

(e}
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SECTION B

Q7. THY fen T w1 v TavEn wfewd R, fm o aws 3= st sl 56 8

sy durErt F @M § TEd By wER 3 38 afes Amieel & fon o s
e A & A 6 TEEE e w grfde Hia #

e &9 % fom Fafofas wafef §
(3) o4 17 ITH AfuF 7Y =

(7) et smifira e & w=faa &1 | @

(m) ofEw 6w s ¢ 19 50 |
(7) W%wmﬁ%ﬂmﬁymﬁw&ﬁmm
i

v 37 us gg 2afd vw & wmien § 9 % g %‘{Wﬁﬁﬁ-ﬁﬁfﬂml
3 305 fd & w g o 51 @ wd i # %ﬁﬁﬂﬁiﬂﬁﬁﬂﬁf{ﬁﬁlﬂ

mﬁmwmmﬁmﬁﬁmﬂmaﬁ , 35% Y2 # SR A
mﬂ‘lﬁ%ﬁ'ﬂﬁﬂ@ﬁmﬁﬁﬁ gg zafa #i e S F
forn ¥ "o 7 2 | v Ry ﬁqﬁﬁﬁlﬂﬁﬁmtﬁq%aﬂaﬁr

wrea e O W AW waﬁmﬁrﬁmm,ﬁﬂw,
FEATE F w, Hﬂﬂﬁ’\\% F, T4 ) " e U2l | Y "
T % ATE FrAT 1wy sttt off Fa & | e oft, foeelt ot
werr it farefta dEma W 3% g F) e § Frht s Sy

AT A =EY ? (260 )

(a) 60 years of age or above.
(b)  Belonging to a reserved community.
(¢)  Family income of less than ¥ 1 lakh per annum.

(d)  Post-treatment prognosis is likely to be high to make a positive difference
to the quality of life of the beneficiary.
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One day, an old eouple visited Rakesh’s office with their application. They have
been the residents of a village in his district since their birth. The old man is
diagnosed with a rare condition that causes obstruction in the large intestine.
As a consequence, he has severe abdominal pain frequently that prevents him
from doing any physical labour. The couple have no children to support them.
The expert surgeon whom they contacted is willing to do the surgery without
charging any fee. However, the couple will have to bear the cost of incidental
charges, such as medicines, hospitalization, ete., to the tune of # 1 lakh. The
couple fulfills all the criteria except criterion ‘b’. However, any finanecial aid
would certainly make a significant difference in their quality of life, §

How should Rakesh respond to the situation ? (250 words) 20

& |

T WOV T .

Qs. mﬁﬂmﬁﬁaﬁqmﬁwﬂﬁ%?ﬁmq@ Htfema Fofaf qen
A arell 7€t g, 39 gzs i giEean, Altwm-aE 4 w9 &
g # Tl § | AAeE U 99 uuw fmin w4 T R s fam

T A A 9% | FEe 3w oa e e T # & s g
st wfe wn fr = ol fosh HH-H-wE sfimEn e g2 | s
qi & mferrt % o afagf 4 & | % wrEm it s et oS #
fre-freor wu-a.wn & s o ? | Ut arm # R ofen ) wgn
Bid &1 39 89 o amaue & 8@ Hma 5 9 I s |

7o o, gafyge ot 3 fren & wes =1 g9y @ wwn R s
foms vz w20 JEH B % o A e | g W d w3 o R
guE fem fe =2 AW, FEfad 7€ v ofEmE F ames v T
WS Tl m@mﬁr%mﬁﬁmﬁﬂlﬁﬁmﬁ
o Ty e Tk gmd i gom ad § w6 9 dafis so @
wiE @ o 98 7' o A e & AR s o vl g a8 2,
A Il ST HEAAT B | W ew F A # wge pidn
qm = W AT 99T, faeE wen R el am wgm, g feem o
Fereenfa i1 | Faw 78 & 7, v "o aga "R S H  wearn w2, ol @
& o1 BHA a9 S B S |

w9 witfeafs =1 qm @9 @ A = w1 0 e v 5 e e s
Tigm Hifw aq mw fifm F o Fw dew B % a9 wwE w
zifes # 1 (250 w=g)
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Q9.

As a senior officer in the Ministry, you have access to important policy
decisions and upcoming big announcements such as road construction projects
before they are notified in the public domain. The Ministry is about to
announce a mega road project for which the drawings are already in place.
Sufficient care was taken by the planners to make use of the government land
with minimum land acquisition from private parties. Compensation rate for
private parties was also finalized as per government rules. Care was also taken
to minimize deforestation. Once the project is announced, it is expected that
there will be a huge spurt in real estate prices in and around that are

Meanwhile, the Minister concerned insists that you realign the uch a
way that it comes closer to his 20 acres farm house. He also t he
would facilitate purchase of a big plot of land in your ype name at the
prevailing rate which is very nominal, in and around sed mega road
project. He also tries to convince you by saying that th o harm in it as he
is buying the land legally. He even promises to s ent your savings in
case vou do not have sufficient funds to buy th ] owever, by the act of

considerable financial burden on the gove nt, and also displacement of the
farmers. As if this is not enough, it eutting down of a large number
of trees, denuding the area of its greeff coygr.

realignment, a lot of agricultural land }‘1-%‘ equired, thereby causing
1

Faced with this situation, atWwill vou do 7 Critically examine various
conflicts of interest and explal hat are your responsibilities as a public
servant. (250 words)

498 U Ty & faem ' 2 | wvitandt st 3w e % v vE e d
gfera snfies Faw 3 o @y E e W for FEaE R | w89 T g
=g Hid B Al 1 W # i $e 9, Taen faen sfamia =t 52
HIT B

wft T 3 e o wHEn & el | dE 9T @ R ek 3H) e
T TR 2 | e, Fevenfiat, gfem @ geen, souius gEed —

difira s o B | ween wEw 5 ae et ot i w i gE R

ok Tadierott & gt 9o & 6 foet % fan del | s = = i weEe W@,
3 anfdfes, sidifies an fafie w9 & fog § | swafs e gfens =1 $F =
T wwre e 2 | i wgel # s @R O TERE way Iwe R e
¥ | ol o % weme O guR @ F oM T @ @R % g s A A
AR HaAl & gAl i HewE ol TEe i T @ |

wae it FEfm =3 & fw sy Se-a 39 39 A9 ? (250 5
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Q10.

It is a State where prohibition is in force. You are recently appointed as the
Superintendent of Police of a district notorious for illicit distillation of liquor.
The illicit liquor leads to many deaths, reported and unreported, and causes a
major problem for the district authorities.

The approach till now had been to view it as a law and order problem and
tackle it accordingly. Raids, arrests, police eases, criminal trials — all these had
only limited impact. The problem remains as serious as ever.

Your inspections show that the parts of the district where the dis$illation
flourishes are economically, industrially and educationally,
Agriculture is badly affected by poor irrigation facilities. F
among communities gave boost to illicit distillation. No may

taken place in the past either from the gﬂ?ﬂfﬂmeut%@

itiatives had
r from social

organizations to improve the lot of the people.

Which new approach will you adopt to g problem under
control 7 (250 words)

us "g wiifie gfEn 98 e w % Ieed # Hee B | 38 viEn
u AfafE swE Tfis we | T GEEE & H S e
ek TEE I sriEn w1 fam T4 GThE A, |1 &y & gifeeam &
'Y, s gfmm i b = w1 foran o us TR & wdiy gwE wnfie
w ot wila vem w= A |

THE & 10 9 o Tam G g o1 oft arft o W gEE w9 & = o oA
Frenfie afeaml Gaddnge dgwn & &7 4ft, 9@ o st w e 92 W
o1 | EE A e ﬁﬂ‘#ﬁ{ﬁmﬂmﬂmlﬁaﬂtﬁlﬂlm

e &ah oH 9% | TR F 9vEr e wER 3 Gl w5 9
faan |
el & 95 & & sfmrEEy 3 Faw awl s wE T gitw 9 atwm g ey
HERE SHEE & HE o SER @ T | g 39 I w50 e ver o 3
¥H1E T Ireqriea Al w ik o

30 HE & HWIRH % IwmEiaes H@Y T v afrs wfuedt B9 F AW, wm m
FEfeE F Fde fa wen #1007 (250 w=2)
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Q11.

A big corporate house is engaged in manufacturing industrial chemicals on a
large scale. It proposes to set up an additional unit. Many States rejected its
proposal due to detrimental effect on the environment. But one State
government acceded to the request and permitted the unit close to a city,
brushing aside all opposition.

The unit was set up 10 years ago and was in full swing till recently. The
pollution cavsed by the industrial effluents was affecting the land, water and
crops in the area. 1t was also causing serious health problems to human beings
and animals. This gave rise to a series of agitations demanding t ure of
the plant. In a recent agitation thousands of people took part, nd a law
and order problem necessitating stern police aection. Followind, the public
outery, the State government ordered the closure of the fa c@

The closure of the factory resulted in the unemplg % of not only those

workers who were engaged in the factory but also fhe¥8e who were working in

the ancillary units. It also very badly affected thfse ' :

on the chemicals manufactured by it. Y
As a senior officer entrusted with th nsibility of handling this issue, how

are you going to address it 7 (250 ‘@

1, ‘wFE WL % U i # | T TR antd = e e o B
forees aregy o wEE % #1 e wedl sEvsmat i gfd & fou, 3 uw
E=RE R Gl n ‘ amd # | 59T A, T F 39 g6 o a6l 4 3ten
T R | T %%Wﬁﬁﬁﬂ'ﬂfﬁﬂﬁﬂl

9 39 &7 # T T % TE § | oEn § e % Gl % 4
AT T w s @ w8 8 | S H o wga i § fes
LR w1 OH wE gt w6, e yee ste s s we

HEAm & folu fAW 2 | 3 g = A a1 W 9 s
g1

wifehd T = YraE 4 $o A W miE § ool w9 @ awdih # ) 3fy i
B S ARl el o dre R s R, W g w0 9gn @ wea s asdh
FA1 Fo TR g2l & 706 gz Sl St 3 @ 957 0w €, 9 @ semares s d =
WA FH O HEEE § | 35 Alais, O g9 & B s s sere & @
A Ryl | anfi 8ot |
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Tk Tme g1 famed & ¢

(i) = AiRHm TEd g, AfEieE w qTEE e gifiea Sl o
I Sl T FA A Fae qFAreh wHH F

(i) wwE H AWE ¥ 3 o ot vEees W o wE, = 2 i 8 W sheEw

GEi Al
T AU % UHE BH & A, WY wHE w9 fEm @ fGwew #mmnt ok
i 7 (250 W)
Dr. X is a leading medical practitioner in a city. He has set up itable
trust through which he plans to establish a super-speciality hospit city
to cater to the medical needs of all sectionz of the society. ally, that
sed hospital

part of the State had been neglected over the years.
would be a boon for the region.

You are heading the tax investigation agenc % region. During an
inspection of the doctor’s elinie, your offy ﬁ:rund oul some major
irregularities. A few of them are subst@htial which had resulted in

paid by him now. The doctor is

considerable withholding of tax that ghould b i
cooperative. He undertakes to paygthe ynmediately.
However, there are certain oth ciencies in his tax compliance which are

purely technical in natu f thefse technical defaults are pursued by the
ergy of the doctor will be diverted to issues

agency, considerable ti

which are not so se Ent or even helpful to the tax collection process.
Further, in all p w:Il hamper the prospects of the hospital coming
Hp.

There are ions before you !

(1l % a broader view, ensure substantial tax compliance and ignore
aulis that are merely technical in nature,

(ii)  Pursue the matter strictly and proceed on all fronts, whether substantial
or merely technical.

As the head of the tax agenecy, which course of action will you opt for and why ?
(250 words) 20
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Q12. UsdE Hied, UH F fww ww demdv & yd sg@wn wwwsw, 3w
% Tt sl & wfea & an e sl SR w0 gen T # o
e | wek fafy fasvn sfi sifef wwen % sEm, 9% o= @ el
FfufEm 1917 #1 3g=4 g0 2, foms @l 7=y 19 T W e aees
oE A R | $6 araeg R e 3 s A an, 35w e T v e s
us Afaw b @1 | 35 W et adaiE w1 5 (Bae =) 9w s
=1 3= FgmE & “Taa =t a7 gu 3 3w am o o e e @ ol s
fag wm fFm s &7, =@ IHe wde 2

HiEd % W4En, WHN g e & Igme % Qa6 e 51
IATT AT SIRY i s amtas e o et e e
uE it # | sve =fe Tied & wena 9 ) Ee 59 3 96

FHA A= 8 A U g % Ay wnete R 2, SradNGw R st s
I =R |

T A9 THE WeRA R 1% Eies w1 FE FE w9 & gu A A 6
e | 3 @ 2 F W w0 T 2 39 ¥ wen 1 ATS BY AT a5
g | (250 wez)

Edward Snowden, a computer exper d fomgner CIA systems administrator,
released confidential Government d ts to the press about the existence

of Government surveillance pro #According to many legal experts and
the US Government, his act ated the Espionage Act of 1917, which

identified the leak of State s as an act of treason. Yet, despite the fact
that he broke the law, S arguad that he had a moral obligation to act.
He gave a justification “whust.lu blowing” by stating that he had a duty
“to inform the puhl that which iz done in their name and that which is
done against thr.-‘.-

According thE Government's violation of privacy had to be exposed

regardless 't:,r since more substantive issues of social action and public
morality involved here. Many agreed with Snowden, Few argued that he
brok w and compromised national security, for which he should be held
ACCO ble.

Do you agree that Snowden's actions were ethically justified even if legally
prohibited ? Why or why not ? Make an argument by weighing the competing
values in this case. (250 words)
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